Seat No.:

Enrolment No.

GUJARAT TECHNOLOGICAL UNIVERSITY

Subject Code: C4300020
Subject Name: ENGINEERING MATERIAL
Time: 10:30 AM TO 12:00 PM

Instructions:

Diploma Engineering — SEMESTER - 2(CtoD) New EXAMINATION - Summer-2023

Date: 03-08-2023

Total Marks: 70

1. Attempt all questions.
2. Make suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.
4. Use of programmable and communication aids are strictly prohibited.
5. Use of non-programmable scientific calculator is permitted.
6. English version is authentic.
No. | Question Text and Option. W&l sl [ S&U).
1.Which of the following is a basic classification of Engineering Materials?
1. | A. | Metals B. | Non-Metals
C. | Both Metals & Non-Metals D. | None of the mentioned
of [ Ao 11 [ 2] 53] (o9 [1 (R4 1HAL o 0] d 2] 523187
1L | A | Higuil B. | [Wel-tidd)
C. | tialtlq) el [0l -t 1) D. | o{tlqu{lxa [0l
Which of the following is not a property of engineering materials?
2. | A. | Mechanical properties B. | Chemical properties
C. | Polymorphism D. | Electrical properties
o [ Aot 11 0] 542 (2% [ 4 R4 1A oAl (G 512l ?
| A | uiEsouMl B. | 2rt1uf@1sopa1yul
C. [ WM lEAu D. | (a8idajaiul
Which of the following is a type of Engineering Materials and is a Metal?
3. | A. | Ashestos B. | Ferrous Metals
C. | Non-Ferrous Metals D. | Bothb&c
oAt 142l 56 9 [« [« R UHA Al USIR B u4el Hod B2
3. | A | ¥Rl B. | u4lql
C. | (4ol 3281q ) D. | ¢ielb %Ac
Which of the following attributes explain why pure metals are not frequently used in engineering
4 applications?
" | A. | Softness B. | Hardness
C. | Brittleness D. | Luster
oAt Hie]] 56 ([AANAIRA YHAA B 3 2L HI2 2Usd, tiduiletl AR IR S3) slIsHIMI
Gullotadl «efl?
S A | us B. | 5(&eldl
C. | 6lsuy] D. | 45
Which of the following is an example of a thermoplastic?
5. | A. | Melamine B. | Epoxide
C. | Urethane D. | Acetal
o1 Aot 11 (8]l sy UHIA 28] 5] G107
U, | A | HdlHieed B. | AAUl&ALYS
C. |yl D. | ¥xled
Which of the following class of engineering ceramics generally includes lubricant materials?
6. | A. | Metalloids B. | Intermetallics
C. | Sulphides D. | Carbides
< W (o2 [ 301 (RA(LSUAL 1 Aot 1110 SUL A2H] AiH Lo 3 6 edSo2 AHAell AHIALL &l

87
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A. | Redlesy

g2 (A sy

B.
C. | ueslosy D.

slulos

Which of the following is not a property of fiberglass?

7. | A. | Nonflammable B. | Reinforcement for plastics
C. | Thermal insulation D. | Organic
of{| Aot H ] A 51O 61 oi] 1M o1e]l?
9 | A | [elgad-ieilg B. | WlRes HI2 Hosuydls8L
C. | adsoxjdalq DENRIEE
How is the creep strength of ceramics when compared to other materials?
8. | A. | Low B. | High
C. | Excellent D. | Zero
] YIHY ol AWML 11Ul $1U 202 3l B2
¢ | A |y B. | Gu
C. | GdH D. | s
Which of the following factors affect the mechanical properties of a material under applied loads?
9. | A. | Grainsize B. | Shape of material
C. | Content of alloys D. | Imperfection and defects
{1 Ast 11 il sUL URMU |19, USl 612 @601 UIHA il Ai[ES dleHlel WU 53 B2
¢ | A | uellweise B. | AHAL ol 1512
C. | Rqlueflumafl D. | 24ysldl e vl
High conductivity copper is used
10 A. | To raise softening temperature B. | In electrical engineering
" | C. | To manufacture semiconductor D. | To reduce porosity
elements
Gudlesdl divdlell GUAlL AR B
0. | A. | o124 dluMlel dHIRq B. | vd[s256 o2 (o 34
C. | AHse5522 dedle] Gallest 539G D. | [69¢lu)dl el2lsdl HI2
Which brass alloy is suitable for high-speed machining?
11. | A. | High tensile brass B. | Gilding metal
C. | Muntz metal D. | Leaded brass
sl (Yo A el s1e-1dls Heil 1oL HLe Aoy 87
9. | A | GRAIRRYSA[Uda B. | Pifesameq
C. | yexrded D. | »{Qlludan
Which of the following is an example of organic insulating material?
A. | Asbestos B. | Slag
12.
C. | Wood-pulp D. | Charcoal
{1 st iel] 53 516{[o15 vicllsSs UMHA Gele B2
QR A | BRIy B. | Qa1
C. | dlsslelyey D. | ARsld
How much carbon is present in cast irons?
13. | A. | Lessthan 0.05% B. | Upto 1.5%
C. | 1.5%to 2% D. | More than 2%
slReu Aol i3eg slulelu8?
3. | A, | 0.05%5d 11§ B. | 1.5%xl
C. | 1.5%¢il2% D. | 2% eildy
Castironisa alloy.
14. | A. | Eutectic B. | Eutectoid
C. | Peritectic D. | Peritectoid
S123 141 AU,
. | A | yelses B. | y25218s
C. | uildls D. | U3leselosyu

Iron obtained from broken

is known as white iron.
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A. | Cementite B. | Graphite
15. C. | Pearlite D. | Bainite
dedl yiell DA w el e wldel dI3 vy 8.
. [A ] Rideelse B. | A5l
C. |udlpe D. | Asllge
At what temperature range is § iron stable?
16. | A. | Upto 908C B. | 908-1388°C
C. | 1388-1535C D. | 1535-1800°C
5L dluMLeisfl AU 5 w1l ReRR 2
€. | A. | 908°C 3yl B. | 908-1388-C
C. | 1388-1535C D. | 1535-1800°C
What is the crystal structure of Y iron?
17. | A. | Body-centered cubic B. | Face-centered cubic
C. | Hexagonal closely packed D. | Body-centered tetrahedral
Y dluise] 2525 HlnuiQ] 82
9. | A. | RR3[gdtit B. | u&A3[gdtit
C. | wzslal«wsell 39 D. | 2RR-5(¢d22esd
What is the melting point of pure aluminum?
18. | A. | 520-600°C B. | 600°C
C. | 800C D. | 950°C
eg, U} M [ 4Ho] ddsi[uig 9] B?
9¢. | A. | 520-600°C B. | 600-C
C. | 800C D. | 950°C
Which of the following is not a classification of aluminum alloys?
19. | A. | Crucible alloys B. | Wrought alloys
C. | Castalloys D. | Heat-treatable alloys
{1 Ast 1 ief] 53 Wy (AHR e\ 45201 o1ef]?
. | A | R4y B. | asidiAqly
C. | sieydly D. | sle-glewdudly
Which of these are applications of grey cast iron?
20. | A. | Camshafts, engine blocks B. | Wear plates, pump linings
C. | Brake shoes, pedals D. | Gears, rocker arms
3 5122 Aol GUALDL el 53| B2
0. [A. | dH2llse, W[eludl sy B. | W, Yyl [«oruél
C. | Qs Used D. | Py, s3]
Which of the following cast irons cannot be machined?
21. | A. | White cast iron B. | Grey cast iron
C. | Malleable cast iron D. | Spheroidal graphite cast iron
o{1s1l Hiell sy 5122 wWIAAHLAA 53] 251 «1eil?
. [ A | udesiReuiue B. | sy
C. | ddusizeuysl D. | 2NasR A5l SRR s
How are malleable cast irons designated for different grades?
22. | A. | By tensile strength B. | By six or seven-digit numbers
C. | By five-digit numbers D. | By alphabets
[cilctl AS HIR (Y5 5122 1ol 3l A (A5t 52 241 B2
R A | dIRIfsdglRl B. | & 1eldl Ald-¥{seil quAlal gIRI
C. | Uid-visei]l qu ] g1 D. | yalaRl Rl
What is the effect of Nickel on cast irons?
23. | A. | Stabilizes carbides B. | Increases hardness
C. | Refines grain structure D. | Improves corrosion resistance
5122 HIR”AUR (o156 ofl 2442 9] B?
3. |A. | slulpsd RAIR KB B. | 5(61dld8 &
C. | Wsilogeil WUstlel QYseg, 52O D. | sleuldsRYuR 8

Which is the primary element used for making stainless steel alloy?
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A. | Chromium B. | Zirconium
24. C. | Vanadium D. | Indium
1Ay 2GRN Wil HI2 dUjld WIS ded 53 8?
¥, [ A | slHuy B. | slletuy
C. | ddlsuu D. | (=54
Stainless steels with little carbon and no nickel are called
25. | A. | Ferritic stainless steel B. | Austenitic stainless steel
C. | Martensitic stainless steel D. | Duplex stainless steel
1691 5101 WA (6156 QORe1l Lol 1A $&dIHi ¢1d B°
WA | FIEs wedy e B. | dlR[i[es Raay Ela
C. |H2[2s Rody e D. | sW@sy Redy e
Which of the following are applications of Ferritic stainless steels?
26 A. | Aircraft engine parts, heat B. | Milk, kettles
' exchangers
C. | Oil burner parts, furnace elements D. | Pumps and valve parts
3312ls eldy el 1ot el 56 A [etdQlet &2
A. | W2s152 W [oogstetl L0, Ele B. | Y, sledl
%, ¢
A 5%
C. | dd tief2 @19]), {8l D. | Uu wa gleg ¢19])
Which of the following is/are the components of a brass alloy?
27. | A. | Brass, Copper, Zinc B. | Copper only
C. | Zinconly D. | Both Copper and Zinc
o [Ast11iefl 4 [Uda (U8 tideil g sl 82
R0. | A. | [Udy, divy, &dd B. | dlAsIUR
C. | HBfls D. | slual(5hs0is
Continuous cooling transformation diagrams are mainly drawn for
28. [ A. | lron B. | Manganese
C. | Anyalloy D. | steel
Hdd§ﬁ3lalr%{$m%ldsmlD,{ll-ll;l,Mca Y2elRd 44198,
R¢. | A | vt B. | 43l+{l»
C. | s1suiely D. | ¥4
In continuous cooling transformation diagrams, which of the following is true?
A. | The material is cooled rapidly B. | The material is first heated and then cooled
29. rapidly
C. | The material is cooled at a certain D. | The material is kept at a constant temperature
rate
Add 50621 2leuslH2lst SEUAMUL, {1Astiniel] 53 UR] D2
A | A Bsuell bgaly B B. | AHALA USal 24 5 M M1A S 3 Ul
. »sugl 63 AlU B.
C. gmaﬂa A5 €2 63 SAMI WA | D. | A1HA1A Add dludla AWM 2419 B.
Time temperature transformation diagrams are drawn for
30. [ A. | lron B. | Manganese
C. | Any alloy D. | Only steel
AHA d UL URddstd5(dud) H12 1AM A1A8.
30. | A | uiued B. | 43+l
C. | s\guLidly D. | HIA¥ld
Which of the following is not a name for time temperature transformation diagrams?
31. | A. | Scurve B. | C curve isothermal diagram
C. | D curve isothermal diagram D. | Bain’s curve
o{1stL Hiell 53 U dlUHlel URcdel 2415[du]lof ol 1M o12f]?
3%, [ A | sdais B. | c dunis aipAlae S
C. | Sl sd uipl g siuluM D. | sipetell dnnis

Steel with different carbon content shows different time temperature transformation diagrams.
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A. | True B. | False
32. c - D |-

(cilce slofel UMAL U1 22)dl (alay UHY dluH Il URddet uL5[duil £21ld 8.
3 A Tug B. | ulg

C D

33.

Which of the following phase will be resulted wh

en the transformation temperature of steel is more

than 750 °C?
A. | Austenite B. | Pearlite
C Bainite D. | Martensite

33.

oRUIR o] qUAR dlUHL1750 °C $cli dy Sl A

1R of1Astl Hiefl sUL doLss) URRIHAL.

A | dlRAlg B. | ualee
C. | Qdllse D. | ul2=ulpe
Which of the following phase will be resulted when the transformation temperature of steel is in
the range of 500 °C to 750 °C?
34. A. | Austenite B. | Pearlite
C. | Bainite D. | Martensite
ofl132216s] URddst dlUHlel 500 °C &1750 °C ofl 3sHi S1U LR oflAstl Higll 5U) dedss) URRMLL?
3. A [alB182 B. [ ualpe
C. | ddlge D. | ule=dlpe
Which of the following phase will be resulted when the transformation temperature of steel is in
the range of 300 °C to 550 °C?
35. A. | Austenite B. | Pearlite
C. | Bainite D. | Martensite
oRU1R 221de] URadel dluHled 300 °C &l 550 °C ofl JeasHi Sl AR «{1Astl Hiell A dwissl uRIHL?
3.
A. | vleellge B. | udalse
C. | Qlse D. | viz=u1se
Which of the following phase will be resulted when the transformation temperature of steel is in
the range of 100 °C to 300 °C?
36. A. | Austenite B. | Pearlite
C. | Bainite D. | Martensite
oRl13 2214 of URcldel dlUHIe1100 °C &1300 °C ofl 302 Hi SlU AU oflAeil Hiell 5] A5 URRIH?
3%, | A | dlRege B. | ualve
C. | Qi D. | ulZ=ulpe
To construct a TTT diagram, the specimen of steels is heated and then cooled.
37. | A. | True B. | False
C. |- D. |-
21212 SIULAIM Weildd] HIR, 2214 il eliysil o AR $AIHi 11D & W US| 63 s IH41d 8.
39. | A |1y B. | W1
C. |- D. |-
In an isothermal curve, which of the following is true when the temperature is increased?
38. | A. | The curve shifts rightward B. | The curve shifts leftward
C. | The curve goes down D. | The curve goes up
wipAldHd 5d 4, 213 diuMiet 98 8 AR «{1Astl Hiell 53 UR] B?
3¢. | A | dniis oURll ds U B. | dais slo{l dgnd B
C. | aunis<lAxud D. | dais GU U 8
Which of the following is not a characteristic trait of polymer materials?
39. | A. | Low density B. | Resistant to chemical attack
C. | Low cost D. | High strength
o1 Aet el 53 Ull@H: H2lude] dlet(Sls qeal «tefl?
3.

A. | \gleetdl | B.

| AARUEIsEHE M RUR1YS
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C. | x1(5ud

| D. | Gugllsd

The number of repeating units in a polymer is known as

40. | A. | monomer B. | degree of polymerization
C. | molecule D. | chain
UL [GHRH | Yetld(dd R sHefl vl 33 WY B

¥o. | A. | HledlR B. | ull@yieabelel-{l(sl
C. | UMY D. | disn
A polymer made of identical monomer units is called

41. | A. | Homopolymer B. | Linear polymer
C. | Copolymer D. | Branched polymer
UYLl Hled 4R wdsHlell el Yl [EHRa 58414 8

¥9. | A | (R B. | uiladlax
C. | slullauR D. | uuldlal(ey
Which of the following is a property of ceramics?

42. | A. | Low strength B. | Low melting point
C. | Resistant to corrosion D. | Bad insulation
oAt 4] 56 RRUMSUA Masd &7

¥. | A, | 28l disld B. | «ilulagsi(og,
C. | steur uldlus D. | WRle 8e2y@Qlel
Porcelain is a type of ceramic.

43. | A. | whiteware B. | stone
C. | abrasive D. | cement
MEICE RiAM e 05 USR .

¥3. | A | cslgedR B. | ueeR
C. | s D. | Rl
Diamond and corundum are examples of ceramics.

44, | A. | glass B. | stone
C. | refractories D. | abrasives
SIUHS el 515 RRUMSU<AL Gl B.

¥Y. | A | SIU B. | ueaR
C. | ucdlddsi D. | avs
Which of the following is not a step in making ceramics?

45, | A. | Powder pressing B. | Sintering
C. | Alloying D. | Vitrification
o1 Aet 11l 53 (AR5 letlddlo] U2l siefl?

¥U. | A. | uldseoildg B. | Rs2RRal
C. | ¥dlal D. | [af2(s521e
Which material is commonly used in electronic devices?

46. | A. | Alumina B. | Titania
C. | Silica D. | Germanium
gaslels GUSAMI A1 IANd 56 U1HALeAl GUAldL Al B?:

¥S. | A, | Ayl B. | 2loelul
C. | Rilasl D. | afstuu
Which of the following carbides are used for cutting tools?

47. | A. | Silicon carbide B. | Tungsten carbide
C. | Vanadium carbide D. | Chromium carbide
o1 Qa1 | Yol sasmw&ﬂ GUALSZTIE HI2 UUY?

¥9. | A. | Rifaslasiules B. | éaRestslules
C. | dalsuusiwles D. | slMuusiwles
Thermoplastics are formed by

48. | A. | Addition polymerization B. | Copolymerization
C. | Condensation polymerization D. | Isomerism
gl Re sy SRIAUIUD

¥¢. | A, | N[5le Ul[@HRpA8 M0 B. | slull@HRpA8H2led
C. | se5-A2le Ul[@HR185521e1 D. | xUlodldR3H

Which of the following is not a property of thermoplastics?
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A. | Recyclable B. | Soft and weak
49. C. | Easy to mold D. | Can be used at high temperatures
o1 st 1 Hiell 5] eiludlRe susil JRiuy «iel?
¥e. | A. | Ruusaslalsiadg B. | cR4ualsloq0n]
C. | HlessalHleRrn D. | GllldiyMladiulsiud
Which of the following is an example of a thermoplastic?
50. | A. | Urethane B. | Melamine
C. | Acetal D. | Epoxide
ol Aot 1] 53 A1) 5¢] GElSAD?
Yo, | A. | Y21 B. | Q1
C. | Wled D. | 2Ulsdles
What does the numbered suffix used in nylon polymers mean?
51. | A. | Molecular weight B. | Number of carbon atoms
C. | Coefficient of thermal expansion D. | Number of monomer chains
o 1lel UL[E@HR Hi dULdl sHIl5d Uil 242l 9 &l 87
ug. | A. | Hldsyerdoel B. | stodeiaigale{liul
C. | uMd(dadrul-oRlis D. | HlelHis0llefliui]
Which of the following is an example of heterochain polymers?
52. | A. | Polyamide B. | Polycarbonate
C. | Polyethylene D. | Polyacrylonitrile
o1 Aei| Hiefl sYS2AAst Ul[GHRe] GelsL 82
U, | A | dllaiss B. | Uldlsiuilae
C. | Ullas(algs D. | Ullansudl(-216¢
Polyethylene and polystyrene are examples of which kind of polymers?
53. | A. | Hydrocarbon plastics B. | Chlorocarbon polymers
C. | Acrylic material D. | Polyamides
Yllas (2[de Wa Yl(Eelat sl usiRel dl(aHrell GelsWil 82
U3, | A | eloslsiolt wifRes B. | sdlRlslolet Wl(@uR
C. | ¥W3lasumail D. | ullauipsy
Which of the following is a requirement for thermal insulation in materials?
54. | A. | High specific gravity B. | High specific heat
C. | Low thermal conductivity D. | Non-inflammability
UMM a4 Qe Lué o1 Aot | Hiell 53 we3] B2
uy. | A. | Guufafaie opcdisyul B. | Gulafarearl
C. | vglegdissdl D. | [&et-nnci2l
How does moisture affect the thermal insulation of a body?
55. | A. | Increases B. | Decreases
C. | Unaltered D. | Becomes zero
Ast 1AM BoRjA A Aoy F1Zd AU 53 87
yy. | A. | dd8 B. | €428
C. | ¥uRdldd D. | Youis{lonud
Which of the following is an example of organic insulating material?
56. | A. | Wood-pulp B. | Charcoal
C. | Slag D. | Asbestos
o1 At | Hiefl 53 5161[e5 wdles UIHAl Gels B2
ue, | A. | dlssleluey B. | dRslY
C. | @l D. | ARy
Which of the following is not a characteristic of natural rubber?
57. | A. | Cheap B. | High strength
C. | High hysteresis D. | Abrasion and tear resistant
oi|Astl Higll 53 sercll 20429] @1l o1ef]?
Uyo. | A, | Al B. | Gdlsld
C. | GulerRn D. | aN M YuldYs
Teflon is known as the trademark name for
58. | A. | Tetrafluoride B. | Tetrafluoroethylene
C. | Fluorinated ether propane D. | Fluoro ethyl propylene
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25€llel HIR 25HLS ellH a3 vl B.
Ue. | A, | 22lsdlRIes B. | c2lsalRl o(alds
C. | sdlRAs8uu+A D. | sl (aaulyldle
Which of the following is not a property of fiberglass?
59. | A. | Organic B. | Nonflammable
C. | Thermal insulation D. | Reinforcement for plastics
of| Aot [H {2l 50 51864206 1oL LD RIH H o1 2f] 7
ue, | A | IS B. | [stogadsi2ild
C. | ud geydelel D. | WiResHI2 Houidls
Which chemical composition of fiberglass is used when chemical resistance is not essential?
60. | A. | Fused quartz steel B. | Borosilicate
C. | Alumina D. | Soda lime
oRL12 AAU(RLS U512 WA S slSlY AURSIHHR o[ Usf] 58 AAU(BLS st o] GUALIL 1Y B?
g0, | A. | sypssdlenild B. | dlRARile3e
C. | Ayl D. | dlsIyell
What is the dimensional accuracy in powder metallurgy?
61. | A. | High B. | Medium
C. | Low D. | Sometimes high and sometimes low
UldselgoLiBHi URHICN ALsAULE 9f 87
<1 | A | GX B. | HeuH
C. |y D. | URSCIRYMARUISAIY
Wastage of material in powder metallurgy as scrap is
62. | A. | large B. | small
C. | depends on other factors D. | Medium
LR d5 UldseigRUBEH A 1HA =) w1LS 8
e | A | HI¢ B. | slld
C. | AURAURWONYAILRAWD D. | Hleyy
Complex shape can be formed effectively using?
63. | A. | Powder metallurgy B. | Turning
C. | Sand casting D. | Metal casting
AU 53] AGUALIL s A% (2L R0eLd]R1SIUD?
£3. | A. | uldsuldeli B. | efl-{a
C. | dlsiRa D. | Hedsleal
Process of forming metal powder by directing molten metal through an orifice after which it is
64 break into small particle using high pressure fluid is known as?
" | A. | Atomization B. | Reduction
C. | Crushing D. | Electrolysis
AR [sURIUDIAG Y IdAS IR s s At et UL S et Idd sflu(su 1B ueldGRuen 1 d I Yd L]l G
Y53 Aol 1o 1SN [AM IR AU IYDAAR| 5Ed 14 D2
55 (A [ RdmsRel B. | €alsl
C. | Maw D. | sdsgllay
Formation of metal powder to use in powder metallurgy by reducing some compound with CO or
other molecules is known as?
65. A. | Atomization B. | Reduction
C. | Crushing D. | Electrolysis
CO WYL Ao URH QL] AL8eil 52615 %ellal el2lSlal UldS? dldRLiBHi dlurdl {2 Hideil
YldSReil 24etl dlS wlaw iy 82
S TA TR B. | €alsl
C. | Walx D. | sasella[y
Which among the following is the best reflector?
66. | A. | Rock B. | Aluminum
C. | Iron D. | Snow
oAt Hiefl $YAY UddS B?
€S, | A | Us B. | Ay (ciuu
C. | utud D. | 4R

Electric Vehicles are generally powered by
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A. | Aluminum batteries B. | Lead-acid batteries
67. C. | Sodium batteries D. | Magnesium batteries
8a (525 dlEst] UMl Id GlRiulfad g e
€9. | A | AUy [yy K23l B. | dls-xRs dezl
C. | dllsuy ve?l D. | Aoy gesl
Who invented the battery?
68. A_ Alessandro Volta B. | Alexander Bell
Alessandro Bell D. | Tim Southee
Qazloﬂ 2lly 518l 53] sdl?
¢, | A. | ¥Ydyiesl dlel B. | 1a5x(52 ¢
C. | ¥alssl A D. | (21 16l
Full form of EV is
69. | A. | Energy voltage B. | Electric vehicles
C. | Electric voltage D. | Energy vehicles
EV < ysl ey 8
g | A | Rl dlee B. | valses dlesil
C. | valses dle D. | Ae1%] dllseil
Which of the following materials will undergo Corrosion?
70 A. | Metals only B. | Metals and Non-metals
" | C. | Metals, Non-metals, Ceramics and D. | Metals, Non-metals, Ceramics, Plastics and
Plastics Rubbers
o[ 18]l 56 A sleiell uuIR «Ql?
go, A i Higil B. | Hiqdl 24a) [G4et-tIqdl
“| C. | tidud), (el-tid), RILMsY D. | tldl, (o4et-tlqa), RRRIMHSY, WiRes v4a
A IR R
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